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Note | Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more
bubbles will result in zero marks in that question B
QUESTION NO. 1 DG Khan Board-2024 1Ay
The founder o;' neo-classical school of thought Is : - JL v S #(fl.ﬂ' 1
pigou £ (D) Keynes 74 (C) Marshall A (B) Adam Smith 5 ¢41(A)
Utility of the last unit of a commodity consumed is called : =T E1 aslit F'Jl‘l GAT dis Lk S Je g y-4 U'( 2
Marginal utility wil 7~ (D) Positive utility wil=} (C) Negative utility i ” (B)  Total utility wbt JF(A)
Functional relationship between price and quantity demand is : - I.‘lr 1) J"T L W e sl =d | 3
Positive =2 (D) Increasing L.f/;?‘f (C) Inverse J# (B)  Direct = si4(A)
The guantity of a commodity existing in the ware house is called : -g- Jllp( S J 2 a2 L rbf 4
Utllity wbl (D) Demand ¥ (C) Stock 25 (B) Supply »s (A)
The easy application of law of decreasing returnison: - ¢ bt G A ¥ .J:“r wie | 5
Agriculture 4 =#1.J (D)} Housing ..;..-:J,cp (C) Trade g=A? (B) Industry (=2 (A)
The change in total cost for the.production of every new unitis: -t éf Al J:.. J_)’I«, (jﬂ Sr)| -6
. Marginal cost ...bbvf‘.' (D) Variable cost i 2> (C) Average os@;l# ksl (B) Total cost JAs J (A)
LA monopolist cantrols the supply : O {\\{9%0 -5 b ds}-’r‘g ars f s ulel | -7
Absolutely Nil (_}fqﬂt (D) - n@(q Totally q};(B] Partially (:2 (A)
A firm Is at equilibrium when : @ s Ao S wild B 1 r) -8
MR = 4% (B) TR=MR ¥ = drs F (A)
M 94 ﬁ= d:‘:F(D) P=MC ..MA'W= =4 (C)
Transfer payments are : Ukl o | 9
Unemployment allowance ssd— (D)' Prices l.:""-' (C) Salaries me (B) wages L2 (A)
The concept of national income was presented by : ..kr‘fﬁ e b’[l.:.T gs | -10
Adam Smith & (y (D) Pigou JE. (C) Keynes #+£(B)  Marshall J’ A (A)
The relationship between the value of money and quantity of money is : -4 d” K¥p a2 ;.3 A1
Increasing (5/;"" (D) Parallel (it# (C) Inverse U™ (B)  Direct =t yiz(A)
tt is more useful in inflation : - g b i LM | 12
Deficit budget L#¥Ke A3 (B) Surplus budget %6 (A)
Domestic budget &5 44 (D) Balance budget ££(i1#(C)
The phases of trade cycle are : -t Lost A £ /E (34? <13
2 (D) 4 (C) 3 (B} 1 (A)
Balance of payments includes : <t dsJe L cﬁbl s | <14
g@; pa kcity.org %ﬂ | -Visible goods 21, (B)  Visible and invisible goods s J-/;f»f J/ (A)
g . nvisible goods A J/ A (D) Services =ts (C)
' ..(,&"'if:(w Jc.yb»ﬁ&”';_:.y}l 2l J)T(f-:/:‘ -15
A branch of economics which deals with income and expenditure of a government is called :
Permanent finance "-"H'IP" (B) Private finance apté' (A)
Public finance =Wl (D) People’s finance =YWL (C)
T AR
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TOTALMARKS:60 % PART-1 Ji.» DG Khan Boafd-202460: ZJ

Q. No. 2 Write short answers to any Six of the following 2x6=12 -2¥ = {12 & L 50108 = 8F 2.4 U1

What is means by Social welfare in Marshall’s definition ? ' Se iy Vet (]/b- 7 ...i_!/ JJ}JL i
r;.r/d’bux?d'..wdw L F¥ ot oo 5 | i

How consumer attain equilibrium in law of equi-marginal utility ?

What is difference between demand’s extension and rise ? fe o/ p’u! % sl é{ ? P | i
What is meant by Zero utility ? c@; pa kcity.org %o Te iy K e ol M| iv
What is meant by joint supply ? 2 £ Ty Lf:. ' J/'-" v
Differentiate between point and Arc elasticity. _g{ ok L ._g o J‘i vi
What is meant by normative science ? Tty Ve ""‘"“"IJ' vii
Define the law of Diminishing Marginal Utility. Yoy Ve ?',y ol LJ:W(-J)F viii
Write down four assumptions of law of supply. - 4f =l e LoaesgP7 | X
Q. No. 3 Write short answers to any Six of the following 2x6=12 .1;‘.7 =\ /i’ WL sijalag < J.f 3./=}Jlr
‘Explain the concept of opportunity costs. ool ¥ Lo Shwe S | i
What Is meant by Labour ? . eyl c ¥ | i
Explain the concept of marginal revenue. ' x é 2ol f 1 £ He ?’? jii
What is meant by variable costs ? @@ Tty Ve Jis 2> | iv
What is meant by Law of increasing costs ? @ Ty Ve A /;“"f O | v

What is meant by firm’s equilibrium under perfect mmpetltio@ &‘q_. iy Lra.. )T L r} s L L d” vi

Explain the concept of Normal Loss. .g!.:»u; 7 & o ™ | vii
Write four Functions of entrepreneur. @ -é Jfl) Y L 21 | viii
What is meant by vertical mobility of Labour 2\ ~ Ty Ve Uik 7o e | ix
Q. No. 4 Write short answers to anr@ﬁhe following 2x6=12 _:gfe..;m/ﬂ & ;ljall’ P {J f4-/=';dlr'
Explain the concept of National g -k (e AL AN
Write methods to measure national income. _{:{ Z",.) e J’g J[LT g7 | i
Write Fisher’s equation of exchange. _ _ _f.'! Sl adils g P /3:4 iii
Write four effects of deflation. -2E g ot ALl ikF | v
Make a diagram of the phases of trade cycle. - -t rl£ B & (3;[? v
Write four assumptions of comparative cost theory. _.‘-'.'_0' el Sy L i &Iﬁ - } vi
Write four causes of deficit balance of payments. ..4":{ i 1 L ¢7 L (,E bl @19 | vii
What is meant by Tax ? Te oy Ve l}g viii
Write four points of economical importance of Zakat. .é et L L =l u’lp- d’ 50 | ix
Part-i pgadad

NOTE : Attempt any three questions from this part  3x8=24 Z£ .7 iz £ Gillgeoml = /= 2 2 1
Is economics is a Science or Art ? Explain it with arguments. 2 ool e S ¢ J ke H' =42 | 5_/:7J|,-

fq..t‘x.;.,-’/dllﬂ ¥t 2 éa(l/g} ol e 2olss § S 2F i 6./:7;}!,'

Explain the law of increasing returns with schedule and diagram. Also discuss its application.

ool I L j LS s ? Limdet| 72U

Explain the firm's equilibrium under monopoly.in short run.
2o s U L ol S a5 gﬁ 8—);}d|’—
Explain the Quantity Theory of money with the help of an example.

Explain the international trade theory of comp_#rative cost. 25 =olss § Ae d5 ALk ing | o /;) Jis
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1 AN
I S
The founder of classical school of thought +~ 'r‘f ifﬂ' s
Robbins (D) Marshall JoA (C) Keynes # (B) Adam Smith U‘;':)’
] (S S
When total utility declines the marginal utility is f-bmﬂf’;'f- ’. o
Zoro (D) Maximum wpie-nis (C) Positive = (B) Negative & @
)7 S
The slope of domand curve is & bots P
Infinite s2400 (D) Zoro M (C) Positive =2 (B) Negative J’ {A)
The quantity of a commodity existing in the ware-house is called :f-dufg'-"lg—m"'-ﬂl'l’f k
Utility o6l (D) Demand ¥ (C) Stock 183 (B) Supply 4 (A)
Quickly perishable goods are called ut dﬂ{:y‘ldbl_ndlh? -5
Perishable goods 2240t (D) Giffan goods .];w" {C) Inferlor good @{B) Normal goods  #{2il (A)
The rate of change in total product is @ f-b)lm_flﬂl’ﬂw! -8

Constant product Jilge/L (D)

ThesumofVCand FCis ,'.__,,t' K lspanl Bl 7
Averago fixed costs wbletsbs! (C)  Totajvéiiable costs A (B) Total fixed costs Jibezpa S (A)
Total costs il (D)

Marginal product Jsl«f‘: (C) Variablg%@%&m@? (B) Average product shlighn! (A)

A monopolist firm commonly gains q.JU%n*(br);huI,l -8
Abnormal loss Loss ¢l (C) Abnormal profit Zbads™2 (B) Normal profit Skals™ (A)

The factors of productions a ufgeP s
' Four Jy (D) Three ¢f (C) Two 2(B) One Ji(A)

Which one Is not included in national income | Qrt) Rl hrie 2 10
Transfer payments ULELISBI (D)  Interest » (C)  Wages (£21(B) Profit Bis (A)

National incoma Is q..ﬂ.sﬁji -1
Total of annual Income of foderal Govt. P VI)A‘L‘”M:{’ {B) Total of annual production P { lﬁblﬁ;_{,{dp (A)
Total Income of all enterpreneurs 4% b‘uz.;ﬁfu,.zf(u ()
Total income of provinclal government % Y@TJUP,‘JQ (D)

The exchange of goods with goods Is called ‘i—"‘!km:?ﬁrk'ﬂ_.y L'k" 12
Domestic system H" tF (D) Fiscal system |)‘" WA (C)  Monetary system H" U2} (B) Barter system '1-')4 (A)

A statement that |s written by buyer In favour of seller Is called q-(]llf -;-wzﬁ:):lg}f:zﬂhu 213
Bill of exchange (3¢ (D) Crossed cheque ZuiJt¥ (C) Draft 2303 (B) Cheque <& (A)

During racession L'Jlmﬁd;l N3 14

Employment Incroases ¢-tiax/fiv (C) Prices docrease 1k ff (B8) Prices increase dpwtes? o

Profit increasos 4.#!,.28!? {D)

O dli2Uir)s _1s
Once J.fi(A)

Zakat is paid during a yoar
Fourtimes Juf (D)  Three times bt (C) Twice Jm (B)
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ECONOMICS STy

w10 & 2= Agilas| dian PRINCIPLES OF )
80 = 45 (PART-1) J1e r% pakcity.org %o
Q.NO. 2 Write short answers of any SIx parts 2x6=12 “-'j "'W/& L o {‘-Jf - /!UV
ATl O

P el (v) § el it (v) ZEuASn (il 2y A ()
2 f Aowe i oy (x) ZEdASf G (i) 2ot Aba?T (V1)

(i) Write Adam Smith's definition of economics (1) Define wealth (i) Define the

ge’.,.ywéf Yo (vi)

marginal utility

(iv) What is meant by saturation point 7 (v) What Is meant by demand ?
(vi) Write two causes of shift of demand curve (vii) Define law of supply
(viii) Define elasticity of supply (ix) Give two examples of durable goods from your practical life

Q.No. 3 _Write short answers of any Six parts . 2xp=12 ze’.:.;m AL {G'-LU 3 A
- AT k! () Y ootV i () 8 e S an et ()

P et izt (vil) ZELATCo (Vi) § e brldfE L} () Z Al (v
.i—eﬂfd{%ﬂ]’l 1SN (ix)

ga@)gble factor of production ?
nopoly (v) Define imperfect competition

(i) What is meant by total production ? (il) What is mean

(i) What Is meant by large scale production ? (iv)
(vi) What is shut down point of a firm ? (vii) D al profit (vill) What [s meant by nominal wage

(ix) Define horizontal mibility ,/,:\@
N

Q.NO. 4 Write short answers of qw&%é}am 2x6=12 .’.:.‘Ucakb‘: /ﬂf_ o1zl _{.‘:..Jf 4 /:'Ub‘
¢ gl K Gx (V) § goalpWesSBK (i) § eled bl (i) ¢ q-..,yk&-_.uggfrc ({)]

¢ et Blite vilh) ¢ gl (Vi) § gl sddont? (i) § eolifeepf (v)
? sttt (Ix)

(1) What is meant by gross domestic product ? (i) What I; meant by subsidies ?

(i) What is meant by paper money 7 (Iv) What Is meant by convertible paper money ?
(v) What Is meant by national trade ? (vi) What Is meant by balance of trade ?

(vil) What Is meant by private finance ? (vill) What is meant by direct tax ?

(ix) What Is meant by surplus budget ?
(PART -1l ) o3 e

NOTE : Attempt any Three quaestions from this part Bx3=24 gdr & llb‘:.f:.Jf.—_ v
U‘-ﬂ" 5]
Explain the law of supply 35-9{5: l.(ww Y™ i /’dlr

Feoboe(UBle MY ¢ catpife S Hiir| o 2l

Explain the law of Increasing returns with schedulo and dlagram

Explaln short run equiibrium of the firm under monopoly ﬁwkwﬂ?i'r )‘bbvlru Jt' 7.4
et ", 7 . !’
Write down functions of money in detall é{ M
/ZJ} 8/;{}':
What Is meant by trade cycle ? Explain its phases é:pu ,.g
e WML S e e S04 9 A
=SS et enbrrabintag, b ool b Is
8 ¥ | P oW
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